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M-M-1

M/M/l: POISSON ARRIVALS TO A SINGLE EXPONENTIAL SERVER

lnput Parameters:
Anival rate (1")
Mean service time (1lrt)

Plfi Parameters:
Maximum size for probability chart
Total time horizon for probability plotting

Results:
Mean interanival time (1lL)
Service rate (p)
Server utilization (p)
Mean number of customers in the system (L)
Mean number of customers in the queue (Lq)
Expected non-empty queue size (Lq)
Mean waiting time (W
Mean waiting time in the queue (VVq)
Mean length of busy period (B)
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